Number of cells

» 100
= Day 3
7,00E+06 O 80
5 HG1
——CT o ©0
, g -
| I S a0
6,00E+06 DMSO qcJ G2/M
TSA S 20
o

o

5,00E+06 | Resveratrol )
—*— Acacetin /
4,00E+06 100

T ®—Chrysin
K 2 Day 6
[}
8 80
— EG1
3,00E+06 o 60 -
) s
L a0 -
GCJ G2/M
2,00E+06 o
5 20
o
O L . e L B B B
CT DMSO TSA Res. Acacetin Chrysin
1,00E+06
- 100
-— 2 %) Day 9
0,00E+00 = ® 80
8 mG1
3 6 9 12 5 60
Number of days post treatment oy 40 ms
S
< HG2/M
8 20
—
[}
o o [ iy NN R
CT DMSO TSA  Res. Acacetin Chrysin

Figure S4. Acacetin and Chrysin induce premature growth arrest of IM90 cells

IMR9O0 cells were treated by the indicated compounds for the indicated time: (a) the number of cells were scored and
(b) the percentage of cells at different stages of cell cycle was determined by flow cytometry after BrDU incorporation.
CT = without drug. TSA: Trichostatin A; Res: Resveratrol.



